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Child Development & Pedagogy 
 

 

1. Learning Plateau refers to - 

(A) Improvement in learning   

(B) Defect in learning 

(C) Obstruction in learning   

(D) Cessation of learning 

2. Which of the following has introduced 

the concept of "Goal Gradient" in 

problem solning ? 

(A) Kohler  (B) Skinner 

(C) Hull  (D) Brich 
3. Who among the following has written 

the book, "The Behavior of Organism" ? 

(A) Tharndike (B) Pavlov 

(C) Hull  (D) Skinner 
4. Which of the following is central to 

learning. 

(A) Imitation       (B) Meaning-Making 

(C) Conditioning 

(D) Rote - memorization 

5. Which of the following is the cardinal 

principle of child centred education ? 

(A) Learning by doing(B) Cramming  

(C) Learning by living(D) None 

6. The term "g" in the Spearman's theory 

of intelligence refers to - 

(A) Genetic Intelligence    

(B) General Intelligence 

(C) Generative Intelligence   

(D) Global Intelligence 

7. Which of the following is not the 

characteristic of early childhood ?  

(A) Imitative age   (B) Questioning age 

(C) Play age  (D) Gang age 

8. The role assigned due to social roles 

and not due to a biological endowment 

is called- 

(A) Gender role Attitudes    

(B) Gender role Stereotypes 

(C) Gender role strain    

(D) Gender role diagnostic 

9. The concept of creativity is related to - 

(A) Crystallised Intelligence   

(B) Fluid Intelligence 

(C) Divergent thinking     

(D) Convergent thinking 

Ckky fodkl ,oa f'k{kk 'kkL= 

1- vf/kxe fLFkjkad lanfHkZr djrk gS& 

(A) vf/kxe esa lq/kkj  

(B) vf/kxe esa nks"k 

(C) vf/kxe esa ck/kk  

(D) vf/kxe dk lekiu 

2- fuEufyf[kr esa ls fdlus leL;k lek/kku esa 

^^y{;izo.krk** dh vo/kkj.kk izLrqr dh gS\ 

(A) dksgyj  (B) fLduj 

(C) gy   (D) fczp 

3- fuEufyf[kr esa ls fdlus ^^n fcgsfo;j vkWQ 

vkWxsZfuTe** iqLrd fy[kh gS\ 

(A) FkkWuZMkbd  (B) ikoykso 

(C) gy   (D) fLduj 

4- fuEufyf[kr esa ls dkSu vf/kxe dk ewy gS \ 

(A) vuqdj.k  (B) vFkZ fuekZ.k 

(C) vuqdwy  (D) jVu Lej.k 

5- fuEufyf[kr esa ls dkSu&lk cky dsfUnzr f'k{kk dk 

cqfu;knh fl)kUr gS\ 

(A) djds lh[kuk  (B) jVuk 

(C) jgu&lgu ls lh[kuk (D) dksbZ ugha 

6- Lih;jeSu ds ckSf)d fl)kUr esa "g" v{kj dk 

vFkZ gS& 

(A) vkuqoaf'kd cqf)eÙkk (B) lkekU; cqf)eÙkk 

(C) mRiknd cqf)eÙkk (D) oSf'od cqf)eÙkk 

7- fuEufyf[kr esa ls dkSu iwoZ ckY;koLFkk dh 

fo'ks"krk ugha gS\ 

(A) vuqdj.kh; vk;q   

(B) loky djus dh vk;q 

(C) [ksyus dh vk;q    

(D) lewg cukus dh vk;q 

8- tSfod o`fÙk ugha cfYd lkekftd Hkwfedkvksa ds 

dkj.k fufnZ"V Hkwfedk dks dgk tkrk gS& 

(A) fyax Hkwfedk n`f"Vdks.k    

(B) fyax Hkwfedk #f<+okn 

(C) fyax Hkwfedk ruko 

(D) fyax Hkwfedk uSnkfud 

9- jpukRedrk dh vo/kkj.kk lacaf/kr gS& 

(A) izrhdkRed cqf) (B) izokgh cqf) 

(C) vilkjh fparu (D) vfHklkjh fparu 
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10. The term' Dyslexia is associated with -  

(A) Reading disorder    

(B) Mental disorder 

(C) Mathematical disorder   

(D) Behavioural disorder 
11. The special children should be taught in- 

(A) Special schools    

(B) With normal children 

(C) Different teaching methods   

(D) Trained special teachers 

12. Which of the following cannot be 

considered as one of the signs of 

"being gifted" ?  

(A) Fighting with others    

(B) Novelty in expression 

(C) Curiosity (D) Creative Ideas. 

13. Which branch of Psychology studies 

the intra-individual changes ? 

(A) Developmental psychology   

(B) Adult psychology 

(C) Adolescent psychology   

(D) Child psychology 

14. Which of the following characteristic a 

primary teacher should have ? 

(A) Paticence  

(B) Eagerness to teach 

(C) Competence in the method of 

teaching    

(D) Competence to teach in a standar-

dized language 

15. At which stage, the child began to 

think logically about objects 

(A) Formal operational stage    

(B) Concrete operational stage 

(C) Pre – operational stage   

(D) Sensory – motor stage 

16. Who among the following has introdu-

ced the four distinct stages of  a child's 

intellectual ? 

(A) Kohlberg (B) Erikson 

(C) Skinner  (D) Piaget 

17. What should be the role of the parent 

in the teaching–learning process of 

children ? 

(A) Proactive (B) Negative 

(C) Sympathetic (D) Neutral 

10- ^fMLysfDl;k* 'kCn lacaf/kr gS& 

(A) iBu fodkj  (B) ekufld fodkj 

(C) xf.krh; fodkj (D) O;ogkfjd fodkj 

11- fo'ks"k cPpksa dks------------ esa i<+k;k tkuk 

pkfg,A 

(A) fo'ks"k fo|ky;  

(B) lkekU; cPpksa ds lkFk 

(C) fofHkUu f'k{k.k fof/k;k¡   

(D) fo'ks"k f'k{kdksa dks izf'kf{kr djuk 

12- fuEufyf[kr esa ls fdls ^^izfrHkkoku** ds ladsrksa 

esa ls ,d ugha ekuk tk ldrk gS\ 

(A) nwljksa ls yM+uk  

(B) vfHkO;fDr esa uohurk 

(C) ftKklk   

(D) jpukRed fopkj 

13- euksfoKku dh dkSu&lh 'kk[kk esa varj&O;fDrxr 

ifjorZuksa dk v/;;u fd;k tkrk gS\ 

(A) fodklkRed euksfoKku 

(B) o;Ld euksfoKku 

(C) fd'kksj euksfoKku (D) cky euksfoKku 

14- fuEufyf[kr esa ls dkSu lh fo'ks"krk ,d izkFkfed 

f'k{kd  esa gksuh pkfg, \ 

(A) /kS;Z    

(B) fl[kkus dh mRlqdrk 

(C) f'k{k.k dh fof/k esa ;ksX;rk   

(D) ,d ekudhd`r Hkk"kk esa i<+kus dh {kerk 

15- fdl Lrj ij] cPpk rkfdZd :i ls oLrqvksa ds 

ckjs esa lkspuk 'kq: djrk gS\ 

(A) vewrZ lafØ;kRed voLFkk   

(B) ewrZ lafØ;kRed voLFkk 

(C) iwoZ lafØ;kRed voLFkk   

(D) laosfnd is'kh; voLFkk 

16- fuEufyf[kr esa ls fdlus cPps dh ckSf)drk ds 

pkj vyx&vyx pj.kksa dks izLrqr fd;k gS\ 

(A) dksg~ycxZ  (B) ,fjDlu 

(C) Ldhuj  (D) fi;kts 

17- cPpksa dh f'k{k.k&vf/kxe izfØ;k esa ekrk & firk 

dh D;k Hkwfedk gksuh pkfg, \ 

(A) lfØ;  (B) udkjkRed 

(C) lgkuqHkwfriw.kZ  (D) rVLFk 
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18. Which of the following can be considered 

as the sign of motivated teaching ? 

(A) Questioning by students.   

(B) Remediat teaching 

(C) Maximum attendence    

(D) Pin drop silence. 

19. Who among the following introduced 

the question answer method ? 

(A) Maria Montessori(B) Plato 

(C) Aristotle  (D) Socrates 

20. Who introduced the programmed lear-

ning method ? 

(A) Skinner  (B) Pavlov 

(C) Thorndike (D) Moreno 
21. Who said the line, "We learn by doing " ? 

(A) Yoakum  (B) John Dewey 

(C) Dr. Mace (D) Simpson 

22. Which out of the following is not the 

characteristic of early childhood ? 

(A) Stability in Growth    

(B) Extreme gregariousness 

(C) Lack of curiosity    

(D) Participation in group and games. 

23. Which out of the following is the first 

step of growth and development ? 

(A) Moral development    

(B) Social development 

(C) Physical development   

(D) Mental development 

24. Which of the following is not an aspect 

of counselling ?  

(A) Communication(B) Confidence 

(C) Personal growth(D) Interview 

25. Who has introduced the operant 

conditioning theory ? 

(A) Thorndike (B) Hull 

(C) Hegarty  (D) Skinner 

26. Who has propounded the fluid crystal-

lised model of intelligence ? 

(A) Vernon  (B) Thorndike 

(C) Skinner  (D) Cattell 

27. Goleman is associated with............... 

(A) Emotional Intelligence   

(B) Spiritual Intelligence 

(C) General Intelligence    

(D) Social Intelligence 

18- fuEufyf[kr esa ls fdls izsfjr f'k{k.k dk izrhd 

ekuk tk ldrk gS \ 

(A) Nk=ksa }kjk iwNrkN (B) mipkjkRed f'k{k.k 

(C) vf/kdre mifLFkfr (D) iw.kZ uhjork 

19- fuEufyf[kr esa ls fdlus iz'u&mÙkj i)fr dh 

'kq#vkr dh \ 

(A) ekfj;k eksaVsljh (B) IysVks 

(C) vjLrq  (D) lqdjkr 

20- vfHkØfer vf/kxe fof/k fdlus 'kq: dh \ 

(A) fLduj  (B) ikoykso 

(C) FkkWuZMkbd  (D) eksjsuks 

21- ^^ge djds lh[krs gSa** ;g dFku fuEufyf[kr esa 

ls fdlus dgk gS\ 

(A) ;ksdqe  (B) tkWu MwbZ 

(C) MkW- esl  (D) flEilu 

22- fuEufyf[kr esa ls dkSu lh izkjafHkd cky;koLFkk 

dh fo'ks"krk ugha gS\ 

(A) fodkl esa fLFkjrk   

(B) vR;f/kd lektfiz;rk 

(C) ftKklk dk vHkko  

(D) lewg vkSj [ksyksa esa Hkkxhnkjh 

23- fuEufyf[kr esa ls dkSu&lk fodkl vkSj o`f) dk 

igyk pj.k gS\ 

(A) uSfrd fodkl (B) lkekftd fodkl 

(C) 'kkjhfjd fodkl (D) ekufld fodkl 

24- fuEufyf[kr esa ls dkSu ijke'kZ dk ,d Lo:i 

ugha gS\ 

(A) lapkj  (B) vkRefo'okl 

(C) O;fDrxr fodkl (D) lk{kkRdkj 
25- fØ;k izlwr vuqca/ku fl)kUr fdlus izLrqr fd;k gS\ 

(A) FkkWuZMkbd  (B) gy 

(C) gsxkVhZ  (D) fLduj 

26- cqf) ds rjy fØLVyhd`r ekWMy dks fdlus 

izfrikfnr fd;k \ 

(A) osjukWu  (B) FkkWuZMkbM 

(C) fLduj  (D) dSVsy 

27- xksyeu---------------ls lacaf/kr gSA 

(A) HkkoukRed cqf)eRrk 

(B) vk/;kfRed cqf)eRrk 

(C) lkekU; cqf)eRrk  

(D) lkekftd cqf)eRrk 
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28. The last stage in the hierarchy of needs 

given by Maslow is. 

(A) Esteem Needs (B) Safety Needs 

(C) Physiological Needs 

(D) Self-actualization 

29. The psychologist who defined, "Intelli-

gence is the ability to adapt to one's 

sorrounding is: 

(A) Jean Piaget (B) Thorndike 

(C) Terman  (D) Binet 

30. Thorndike's theory falls under which 

of the fallowing categories ? 

(A) Behaviouristic theory    

(B) Cognitive theory 

(C) Psychoanalytic theory   

(D) None of these 

 

28- ekLyks ds inkuqØe esa vafre pj.k dks D;k dgk 

tkrk gS\ 

(A) lEeku dh t:jr (B) lqj{kk dh t:jr 
(C) 'kkjhfjd t:jr (D) vkRecks/k 

29- og euksoSKkfud ftlus dgk fd] ^^cqf) og 

{kerk gS tks gesa vius okrkoj.k esa lek;ksftr 

djuk fl[kkrh gS** dkSu Fkk \ 

(A) thu fia;kts  (B) FkkWuZMkbd 
(C) VeZu   (D) fcus 

30- FkkWuZMkbd dk fl)kUr] fuEu esa ls dkSulh Js.kh 

esa vkrk gS\ 

(A) O;ogkjkRed fl)kUr    

(B) laKkukRed fl)kUr 

(C) euksfo'ys"k.kkRed fl)kUr   

(D) buesa ls dksbZ ugha 

Hkk"kk – I fgUnh 

funsZ'k & ¼iz'u 31&39½ % x|ka'k dks i<+dj fuEufyf[kr 

iz'uksa esa lcls mfpr fodYi pqfu,A 

 

x|ka'k 

 

 eq>s ekywe ugha Fkk fd Hkkjr esa ^fryksfu;k* uke 

dh Hkh dksbZ txg gS tgk¡ gekjs ns'k ds lelkef;d 

bfrgkl dk ,d foLe;dkjh iUuk fy[kk tk jgk gSA ml 

oDr rd fryksfu;k ds ckjs esa eq>s bruh gh tkudkjh 

Fkh fd ogk¡ ij ,d Lokoyach fodkl&dsUnz py jgk gS] 

ftls LFkkuh; xzkeoklh] L=h&iq#"k feytqydj pyk jgs 

gSaA eq>s ogk¡ tkus dk volj feykA cLrh D;k Fkh] dqN 

iqjkus vkSj dqN u, NksVs&NksVs ?kjksa dk >qjeqV FkhA 

 ogk¡ ,d lTtu us crk;k fd ,d lqf'kf{kr rFkk 

mlds nks lkfFk;ksa ^VkbfiLV rFkk QksVksxzkQj* us feydj 

1972 esa bl laLFkku dh LFkkiuk dh FkhA laLFkku dk 

uke Fkk& ^lkekftd dk;Z rFkk 'kks/k&laLFkku* ¼,l- 

MCY;w- vkj- lh½A 

 esjs eu esa la'k; mBus yxs FksA vkt ds tekus 

esa oSKkfud midj.kksa vkSj tkudkjh ds cy ij gh 

rjDdh dh tk ldrh gSA mlls dVdj vkSj vogsyuk 

djrs gq, ugha dh tk ldrhA ,d fiNM+s gq, xk¡o ds 

yksx viuh leL;k,¡ Lo;a lqy>k yasxs] ;g ukeqefdu 

FkkA og lTtu dgs tk jgs Fks ^^gekjs xk¡o vkt ugha 

cls gSaA bu xk¡oksa esa 'krkfCn;ksa ls gekjs iwoZt jgrs tk 

jgs gSaA igys tekus esa Hkh gekjs yksx viuh lw> vkSj 

igydneh ds cy ij gh viuh fnDdrsa lqy>krs jgs 

gksaxsA t:jr bl ckr dh gS fd ge 'krkfCn;ksa dh bl 

ijaijkxr tkudkjh dks u"V u gksus nsaA bldk mi;ksx 

djsaA** fQj eq>s le>krs gq, cksys ^^ge ckgj dh 

tkudkjh ls Hkh iwjk&iwjk ykHk mBkrs gSa] ij ewyr% 

Lokoyach cuuk pkgrs gSa] Lokoyach] vkRefuHkZjA** eq>s 

ckj&ckj xk¡/kh th ds dFku ;kn vk jgs FksA eSaus xk¡/kh 

th dk ftØ fd;k rks og cM+s mRlkg ls cksys& ^^vkius 

Bhsd gh dgk gSA ;g laLFkku xk¡/khth dh ekU;rkvksa ds 

vuq:i gh pyrk gS& lknkiu] deZBrk] vuq'kklu] 

lgHkkfxrkA ;gk¡ lHkh fu.kZ; fey cSBdj fd, tkrs gSaA 

vkRefuHkZjrk-----------A** vkRefuHkZjrk ls eryc fd 

xzke okfl;ksa dh fNih {kerkvksa dks dke esa yk;k tk, 

vkSj xk¡/khth ds vuqlkj] xzkeoklh viuh vf/kdka'k 

cqfu;knh t:jr dh oLrqvksa dk mRiknu Lo;a djsaA 

 ¼òksr % ,d rhFkZ ;k=k] Hkh"e lkguh½ 

31- Lkekftd dk;Z rFkk 'kks/k&laLFkku dh LFkkiuk dk 

mís'; Fkk & 

(A) mUgsa izkphu ijaijkvksa ls ifjfpr djkuk  

(B) xzkeokfl;ksa dks ns'k&fons'k dh tkudkjh 

iznku djuk  

(C) mUgsa dsoy vuq'kkflr djuk    

(D) mUgsa Lokoyach] vkRefuHkZj cukuk  

32- ys[kd dk ekuuk Fkk & 
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(A) vk/kqfud le; esa oSKkfud midj.kksa vkSj 

tkudkjh ls dVdj ;k mldh vogsyuk 

djds rjDdh ugha dh tk ldrh gS  

(B) vk/kqfud le; esa oSKkfud midj.kksa vkSj 

tkudkjh ds cy ij gh rjDdh ugha dh 

tk ldrh gS  

(C) xzkeoklh viuh leL;k,¡ Lo;a lqy>k ldrs gSa  

(D) xzkeokfl;ksa dks viuh leL;k,¡ Lo;a lqy>kus 

dh vknr gS  

33- laLFkku ds fu.kZ; vkSj lapkyu esa vk/kkjHkwr 

Hkwfedk buesa ls fdldh gS\ 

(A) xk¡o iz/kku dh (B) laLFkkid dh  

(C) dsoy xjhc vkSj nfyr efgykvksa dh  

(D) ml xk¡o esa jgus okys lHkh yksxksa dh  

34- ^vkRe* milxZ fdl 'kCn esa ugha gS\ 

(A) ijekRek  (B) vkRefuHkZj  

(C) vkRelEeku  (D) vkReh;  

35- ys[kd ds vuqlkj ^^fryksfu;k** xk¡o esa gekjs 

ns'k ds vktdy ds bfrgkl dk foLe;dkjh 

iUuk fy[kk tk jgk gS** bldk dkj.k gS& 

(A) dsUnz esa bfrgkl ij foLe;dkjh 'kks/k fd;k 

tk jgk gS    

(B) ^fryksfu;k* xk¡o fiNM+s xk¡o ds :i esa tkuk 

tkrk gS  

(C) ogk¡ ,d Lokoyach fodkl dsUnz py jgk gS  

(D) ogk¡ ds yksx vuqnku ij vkfJr gSa   

36- ^'krkCnh* ------------ lekl dk mnkgj.k gSA 

(A) vO;;hHkko  (B) cgqozhfg  

(C) f}xq   (D) rRiq#"k  

37- xk¡/khth --------------- dks ekU;rk ugha nsrs gSaA 

(A) lknkiu  (B) vkRefuHkZjrk  

(C) deZBrk  (D) vdeZ.;rk  

38- fuEu esa ls laKk dk mnkgj.k ugha gS& 

(A) vuq'kkflr  (B) vkRefuHkZjrk  

(C) Lokoyac  (D) vuq'kklu  

39- ^mi;ksxh* 'kCn dk foykse gS& 

(A) mi;ksfxrk  (B) vmi;ksxh  

(C) vuqi;ksxh  (D) vui;ksxh  

 

 funsZ'k&¼iz'u 40&45½% uhps fn, x, i|ka'k dks 

i<+dj fuEufyf[kr iz'uksa ds lcls mfpr fodYi pqfu,& 
 

ia|k'k 

  

 phafV;k¡ bZ";kZyq ugha gksrha 

 nkSM+rh Hkkxrh 

 ,d&nwljs dks lans'k igq¡pkrha 

 Tkhou dks ij[krh igq¡prh gSa ogk¡] 

 tgk¡ dksbZ ugha igq¡pk dHkh phafV;ksa ls igysA 

 ladsrksa esa djrh gSa] os 'kCn la/kku  

 jkLrk ugha Hkwyrha dHkh Le`fr esa j[krh gSa  latksdj  

 nksLr vkSj nq'eu ds psgjs 

 fc[kjrh gSa dHkh&dHkkj os exj gj ckj 

 u, fljs ls VVksyrh gSa os iwoZtksa }kjk NksM+h xbZ 

 xa/k fQj ls ,dtqV gksrs gq,AA 

40- phafV;k¡ vkil esa ckrphr dSls djrh gSa\ 

(A) cksydj  (B) lans'kksa esa  

(C) ladsrksa ls  (D) Nwdj  

41- ^bZ";kZyq* fdls dgk tkrk gS\ 

(A) lcls ?k`.kk djus okyk    

(B) ikus dh bPNk djus okyk  

(C) dqN Hkh pkgus okyk    

(D) nwljksa ls tyus okyk   

42- phafV;ksa ds LoHkko esa ugha gS& 

(A) lans'k igq¡pkuk (B) nkSM+&Hkkx djuk  

(C) thou dks ij[kuk (D) bZ";kZ djuk  

43- fc[kjh gqbZ phafV;k¡ fQj ls ,dtqV dSls gksrh 

gSa\ 

(A) jkLrk VVksyus ls  (B) fe=ksa ds lg;ksx ls  

(C) 'k=qvksa dh pqukSrh ls(D) ioZtksa dh xa/k ls  

44- fe= vkSj 'k=q ds psgjksa dks phafV;k¡& 

(A) fc[ksj nsrh gSa (B) Hkwy tkrh gS  

(C) ;kn j[krh gSa (D) igpkurh ugha gS  

45- dkO;ka'k esa ^exj* dk vFkZ gS& 

(A) ijUrq  (B) exjePN  

(C) ?kfM+;ky  (D) dsoy  

46- d{kk d{k esa f'k{kd }kjk fd;k x;k okpu gS& 

(A) vuqdj.k okpu (B) vkn'kZ okpu 

(C) xaHkhj okpu  (D) ekSu okpu 
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47- lquuk dkS'ky ds ckjs esa dkSu lk dFku mfpr 

ugha gS& 

(A) lquuk dkS'ky lcls de egRoiw.kZ gS  

(B) lquuk dkS'ky ekSf[kd dkS'ky ds varxZr 

vkrk gSA  

(C) lquuk dkS'ky vU; dkS'kyksa ds fodkl esa 

lgk;d gS    

(D)  lquuk dkS'ky dk fodkl Hkk"kk ds fu;eksa 

dks igpkuus esa rFkk mudk fuekZ.k djus 

esa lgk;d gS 

48- ekSu iBu dkS'ky okpu dkS'ky ls fHkUu gS] 

D;ksafd& 

(A) blls fo"k; oLrq ds vkRelkr djus ij 

cy fn;k tkrk gS    

(B) ;g okpu dkS'ky dk izkjafHkd :i gS 

(C) ;g Hkk"kk f'k{k.k dk izkjafHkd dkS'ky gS  

(D) blesa fo"k; oLrq ds lLoj mPpkj.k ij 

cy fn;k tkrk gS 

49- ^^vkdk'kok.kh** fdl izdkj dk f'k{k.k lk/ku 

gS\ 

(A) n`'; lk/ku  (B) JO; lk/ku 

(C) n`';&JO; lk/ku (D) fØ;k lk/ku 

50- ifj;kstuk fof/k esa f'k{kk iznku dh tkrh gSA 

(A) lS)kfUrd f'k{kk (B) thouksi;ksxh f'k{kk 

(C) csfld f'k{kk  (D) uSfrd f'k{kk 

51- izkFkfed Lrj ij dfork f'k{k.k dh mi;qDr 

fof/k gS& 

(A) O;k[;k fof/k     

(B) xhr vkSj vfHku; fof/k 

(C) rqyuk fof/k    (D) [kaMkUo; fof/k 

52- d{kk esa dqN Nk= laf/k] lekl o laKk 'kCnksa dks 

le>us esa fo'ks"k dfBukbZ vuqHko djrs gSa buds 

fy, mi;qDr f'k{k.k gSA 

(A) mipkjkRed f'k{k.k (B) uSnkfud f'k{k.k 

(C) fo'ks"k f'k{k.k  (D) iwjd f'k{k.k 

53- f'k{kkFkhZ dh U;wurkvksa vkSj detksfj;ks dh 

igpku djuk %& 

(A) lgh f'k{k.k ds fy, cgqr vko';d gS  

(B) 'kS{kf.kd funku izfØ;k dk izFke pj.k gS 

 (C) mipkjkRed f'k{k.k dk nwljk pj.k gS  

(D) Hkk"kk f'k{kd dk drZO; gksrk gS 

54- Hkk"kk f'k{k.k dk vafre dkS'ky dkSu lk gS\ 

(A) iBu dkS'ky  (B) ys[ku dkS'ky 

(C) Jo.k dkS'ky  (D) Hkk"k.k dkS'ky 

55- vkSipkfjd ekSf[kd vfHkO;fDr ds nks mi Hkkx 

D;k  gSa\ 

(A) lkfgfR;d ,oa O;kogkfjd    

(B) lkfgfR;d ,oa izk;ksfxd 

(C) O;kogkfjd ,oa izfr;ksxkRed    

(D) mijksDr esa ls dksbZ ugha 

56- Ekufld :i ls fodykaxksa dks fdlus fody cqf) 

uke fn;k gS\ 

(A) FkkWuZMkbd  (B) fLduj 

(C) fi;kts  (D) dksgyj 

57- Okkpu ds le; iqLrd dh vk¡[kksa ls nwjh gksuh 

pkfg,A 

(A) 10 bap  (B) 12 bap 

(C) 14 bap  (D) 16 bap 

58- fuEufyf[kr esa ls fdls ekufld foU;kl dk 

fu;e Hkh dgrs gSa\ 

(A) euksHkko dk fu;e (B) eukso`fÙk dk fu;e 

(C) lkn`';rk dk fu;e (D) buesa ls dksbZ ugha 

59- ,dkadh ikB eq[;r% fdlesa lgk;rk djrs gSa\ 

(A) okD; lajpuk dh tkudkjhA    

(B) vfHku; dh dq'kyrkA 

(C) ys[ku&dkS'ky dk fodklA    

(D) lUnHkZ ds vuqlkj mfpr mrkj&p<+ko ds 

lkFk cksyukA 

60- Nk=ksa esa dkSrqgy ,oa ftKklk tkx`r djus ds 

fy, f'k{kd dks D;k djuk pkfg,\ 

(A) fo"k; dk izHkkoh izLrqrhdj.k   

(B) ljy fo"k; dk p;u 

(C) Nk=ksa ds fopkjksa ij dksbZ izfrfØ;k u djuk  

(D) HkkoukRed fof/k;ksa dk mi;ksx 
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Language 2 (English) 
Directions – (Q.61 to 68) : Read the 

passage given below and answer the 

questions that follow by selecting the 

correct/most appro-priate options. 

PASSAGE 
 Raja Ram Mohan Roy is considered 

the pioneer of modern Indian Renaissance 

for the remarkable reforms he brought about 

in the 18th century India. Among his efforts, 

the abolition of the Sati-pratha: a practice in 

which the widow was compelled to sacrifice 

herself on the funeral pyre of her husband : 

was prominent. His efforts were also 

instrumental in eradicating the Purdah 

system and child marriage. In 1828, Ram 

Mohan Roy formed the Brahmo Samaj, a 

group of people, who had no faith in idol-

worship and were against the caste 

restrictions. 

 Raja Ram Mohan Roy's father was a 

wealthy Brahmin and strictly performed the 

duties set by the religion. Ram Mohan 

himself was also devoted to Lord Vishnu 

and in his 14th year, he wanted to become a 

monk but his monther, Tarini Devi objected 

to his desire. 

 Ram Mohan viewed education as a 

medium to implement the social reforms. 

So, in 1815, Ram Mohan came to Calcutta 

and the very next year, started an English 

College by putting in his own savings. He 

was well aware that the students should 

learn the English language and scientific 

subjects and that's why he criticized the 

government's policy of opening only 

Sanskrit schools. According to him Indians 

would lag behind if they do not get to study 

modern subjects like Mathematics, 

Geography and  Latin. The government 

accepted this idea of Ram Mohan and also 

implemented it but not before his death. 

Ram Mohan was also the first to give 

importance to the development of mother 

tongue. His GaudiyaByakaran in Bengali is 

the best of his prose works. Rabindranath 

Tagore and Bankimchandra also followed in 

the footsteps of Ram Mohan Roy. 

 Ram Mohan Roy was a staunch 

supporter of free speech and expression and 

fought for rights of Vernacular Press. He 

also brought out a newspaper in Persian 

called Miratul-Akhbar (the Mirror of News) 

and a Bengali weekly called 

SambadKaumudi (the Moon of 

Intelligence). In those days, items of news 

and articles had to be approved by the 

government before being published Ram 

Mohan protested against this control by 

arguing that newspapers should be free and 

that the truth should not be suppressed 

simply because the government did not like 

it.   
61. Raja Ram mohan Roy is known for 

his-  

(A) Literary reforms    

(B) Political reforms 

(C) Social reforms  

(D) Economic reforms 

62. When he was a teenager, Raja Ram 

Mohan Roy expressed his desire to 

become a -  

(A) Monk  (B) Teacher 

(C) Businessman (D) Journalist  

63. Raja Ram Mohan Roy believed that 

Indians would lag behind if they -  

(A) did not learn traditions skills  

(B) gave up study of Sanskrit 

(C) did not study modern subjects  

(D) forgot their cultural room 

64. Raja Ram Mohan Roy strongly 

suppo-rted - 

(A) physical education    

(B) freedom of speech and expression 

(C) moral education    

(D) rituals and observances 
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65. The word 'eliminating' most nearly 

means -  

(A) eradicating (B) banning 

(C) dismissing (D) banishing 

66. The word which is opposite in mean-

ing to 'encouraged' is -  

(A) misled  (B) Disheartened 

(C) suppressed (D) crushed 

67. Which 'Part of speech' is the underlin-

ed word in the sentence given below ? 

"He was a staunch supporter of free 

speech and expression."  

(A) Conjunction (B) Noun 

(C) Adverb  (D) Adjective 

68. "Raja Ram Mohan Roy viewed 

education ......" 

The 'voice' in the above sentence has 

been correctly changed in -  

(A) Education is viewed .....  

(B) Education has been viewed...... 

(C) Education had been viewed .....  

(D) Education was viewed...... 

 

Directions – (Q.69 to 75) : Read  the passa-

ge given below and answer the questions 

that follow by selecting the correct/ most 

approp-riate options. 

PASSAGE 
 Your body is made up of sixty percent  

water and you lose the essential fluid every 

minute of every day as you breathe, digest 

and hopefully work up a sweat. It is 

important that you put back every drop. 

Starting now, drink eight 230 ml glasses of 

water every single day-that's the minimum 

your body needs daily. That is the non- 

negotiable sugar savvy hydration Mantra. 

Many times when you think you're hungry, 

sleepy, depressed, and/or irritated, you're 

actually just dehydrated. Drinking enough 

water actually helps you combat water 

retention. Sounds counterintuitive, but think 

about it. If you are running around in a semi 

– dehydrated state all the time, your body is 

going to hang on to every single drop, 

giving you that puffy, unhealthy appearance. 

When you are properly hydrating, your body 

gets the message that all systems are 

operating smoothly and it countinues its 

work of flushing out your system and 

ridding itself of the excess fluids. 

 If your goal is to lose weight, water is 

a must. When you're dehydrated. Your body 

sends out signals that you need assistance. 

Many people mistake those thirsty SOS 

signals for hunger and take in hundreds of 

extra calories. They also don't solve the real 

problem: thirst ! Drinking water can be a 

powerful appetite suppressant and allows 

you to cue into your real hunger. Your body 

also needs plenty of water for proper 

digestion, so you can get the most from the 

foods you eat. You are less susceptible to 

food cravings when your stomach is full and 

you're getting all the nutrients you need. 

Drink two glasses of water before every 

meal-you'll eat less ! Your body uses water 

for fat.  

69. ............. helps fight water retention.  

(A) Drinking enough water   

(B) Exercising regularly 

(C) A regular morning walk   

(D) Having a balanced diet 

70. Our systems operate satisfactorily-  

(A) when we enjoy a sound sleep   

(B) when we are properly hydrated  

(C) if we consume lots of fruits and 

vegetables    

(D) if excess fat is reduced 

71. The best way to lose weight is to -  

(A) take weight-reducing pills   

(B) exercise at least twice a day 

(C) drink plenty of water    

(D) eat less starchy food 

72. When we are dehydrated we think 

we-  

(A) want to vomit (B) are tired 

(C) need food  
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(D) are about to collapse 
73. The word 'irritated' most nearly means -  

(A) troubled  (B) uneasy 

(C) frustrated (D) annoyed 

74. The word which is opposite in 

meaning to 'assistance" is - 

(A) resistance (B) persistance 

(C) existence (D) fragrance   

75. ''Your body uses water for fat." The 

'voice" in the above sentence has been 

correctly changed in -  

(A) Water could be used for fat by our 

body    

 (B) Water is being used by our body 

for fat 

(C) Water is used for fat by your body  

(D) Water was used for fat by our 

body 

76. Which of the following statements is 

'True' of language learning ?  

(A) First language interferes in the 

learning of second language.   

(B) First language suports the learning 

of second language. 

(C) Language learning has nothing to 

do with content learning    

(D) Every language is different and 

learning of language is also discreet. 

77. "Body language" is technically known 

as:  

(A) Communication skills   

(B) Dialect 

(C) Social Skills    

(D) Non-verbal communication 
78. At initial stage, what is the best possible 

way to develop a child's vocabulary ? 

(A) Leave the child unsupervised  

(B) Engage the child in loud reading and 

interaction.   

(C) Making him go to library   

(D) Let him see TV serials. 

79. Which one of the theories based on 

the habit formation that says that 

human or any creature gives response 

due to appreciation or human learn 

language due to stimulus ?  

(A) Classical condition    

(B) Operant condition 

(C) Stimulus condition    

(D) Social cognitive learning 

80. A test of listening comprehension is a 

test of   

(A) Receptive skill  

(B) Productive skill 

(C) Hearing skill (D) Phonology 

81. Graphic, Flow, Pie, Picture, time etc. 

are all examples of . 

(A) Charts  (B) Boards 

(C) Graphs  (D) None of these 

82. According to the observation in the 

National Curriculum Framework 

(NCF)- 2005. English is a ................... 

language  in India.  

(A) foreign  (B) First 

(C) Global  (D) Second 

83. Which one of the following methods 

is suggested for teaching grammar at 

primary level ?  

(A) Textbook method    

(B) Inductive method 

(C) Translation method    

(D) Deductive method 
84. Remedial teaching as part of formative 

assessment means.  

(A) Diagnosing and addressing gaps in 

learning    

(B) Extra coaching by tutors 

(C) Teaching beyond the textbook  

(D) Teaching for gifted student 

85. Planning, Organizing, leading and 

Evaluating are the four steps of Remedial 

teaching suggested by whom ?  

(A) I.K. Device (B) E.H. Billows 

(C) E.M. Anthong (D) None of these 

86. When the teacher quietly observes the 

students during a collaborative grammar 

activity, the activity plays a ............. role.  

(A) diagnostic (B) evaluative 

(C) interactive (D) record keeping 
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87. Which of the following is a principle 

of language teaching ?  

(A) Theory of ratio and series   

(B) Theory of written approach 

(C) Theory of production  and 

creation 

(D) Theory of discovery  
88. The acronym, CALP stands for-  

(A) Cognitive Academic language 

Proficiency    

(B) Controlled Academic language 

proficiency 

(C) Communicative Academic language 

proficiency    

(D) Comprehension Academic language 

proficiency 

89. What is the characteristic of the unit 

approach of curriculum ?  

(A) Child-centered 

(B) Teacher-centered 

(C) Content - centered    

(D) Objective - centered 
90. Which of the following is correct about 

language learning ? 

(A) It is a conscious process.   

(B) It requires grammatical rules and 

strategies. 

(C) learners are compulsorily aided by 

mentors    

(D) All of the above 
 

laLd`r  

61- ^txnh’k%* ea fdl lw= ls lfU/k gqbZ gSa\ 

(A) rksfyZ  (B) eks·uqLokj 
(C) [kfj p  (D) >yka t’kks·UrsA 

62- ^jke* 'kCn ds r`rh;k ,dopu dk :Ik gksrk 

gSa& 

(A) jkeS%  (B) jkes.k 
(C) jkee~  (D) jkes"kqA 

63- ^iBke%* iB~ /kkrq d% :Ika vfLrA 

(A) yV~ydkj] mRreiq:"k cgqopu esa  
(B) yksV~ydkj] mRreiq:"k cgqopu esa 
(C) y³~ydkj] mRreiq:"k cgqopu esa   
(D) fof/kfy³~ydkj] mRreiq:"k] cgqopu esaA 

64- ^nk* /kkrq esa DRok izR;; dk ;ksx djus ij gksrk 

gSa& 

(A) nkRok  (B) nf;Rok 
(C) nRok  (D) nkf;RokA 

65- ^l% iknsu [kŒt% vfLrA* okD; esa ^iknsu* in 

esa r`rh;k foHkfDr dk fo/kk;d lw= gSa& 

(A) #P;FkkZuka izh;ek.k% 
(B) ;sukaxfodkj% 
(C) vf/k’kh³~LFkklka deZ(D) vdfFkra pA 

66- laLd`r ds izR;sd ydkj esa iq#"k gksrs gSa& 

(A) nks      (B) rhu       
(C) pkj  (D) ik¡p 

lwpuk& fuEefyf[kr x|ka’ka ifBRok iz’ukuk ¼iz-la- 

141&145½ fodYikRdksRrjsH;% mfprree~ mrja fpRok 

fy[krA 

 ,dfLeu~ xzkes pRokj% czká.kiq=k% ijLija 

fe=Hkkosu olfUr LeA rs"kq =;% f’kf{krk% if.Mrk% p 

vklku~ ija prqFkZ% lqcqf)% uked% rs"kka fe=a cqf)eku~ 

fdUrq 'kkL=foeq[k% vklhr~A v/;;us rq rL; :fp ,oa 

uklhrA /kuL; vHkkos ,dnk rS% fopkfjra ;r~ foeFkZa u 

ns’kkUrja xRok o;a /kuksiktZua dqeZa%A ,oa fopk;Z rs 

iwoZns’ka izfr pfyrqe~ mRlqdk% vHkou~A 

 Lkglk ,o ouL; ekxZs xPNr%A rs dkfufpr~ 

vLFkhfu vi’;u~A Lo’kkL=&Kkusu gf"kZr% ,d% 

vonr~&vgks! fdeFkZa u o;a Lofo|k;k% ijh{kka dqeZ%A 

,ra thoa Lofo|kizHkkos.k vga thfora djksfeA ,oe~ 

mDRok l% rL; vfLFklŒp;e~A vdjksr~A rRi’pkr~ 

f}rh;su peZ&ekal :f/kja p la;ksftre~A r`rh;% vfi 

LoKkuL; ijh{kka dqoZu~ ;kor~ rfLeu~ thoua lŒpfjrqe 

m|r% rkonsoa lqcqf)uk fuf"k)% mDr% p&Hkks! ,"k% rq 

flag% izrh;rsA ;fn vfLeu~ izk.kku~ lŒpkj;fl rnk 

thfor% HkwRok ,"k vLeku~ lokZu~ ,o ekuf;";frA 

   bna JqRok Øksf/kr% r`rh;% vd/k;r~ js ew[kZ! vga 

fo|k;k% foQyrka u dfj";kfeA vga rq ,rfLeu~ izk.kkr~ 

lŒpkj;kfeA lqcqf)% vonr~&{k.ka izrh{kL;] ;konga 

o`{kekjksgkfeA bR;qDRok l% o`{kekjksgr~A rnk r`rh;su 
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czká.ksu rfLeu ;Fkk izk.kk% lŒpkfjrk% rFkSo flag% 

thfor% HkwRok rku~ czká.kku~ vkØE; rs"kka uk’kdejksr~ 

rRi’pkr~ lqcqf)% o`{kknorh;Z Lox`ga xr%A 

67- xzkes czká.kiq=k% dFkZ olfUr Le \ 

(A) ghuHkkosu  (B) fe=Hkkosu 
(C) nhuHkkosu  (D) 'k=qHkkosuA 

68- 'kkL=foeq[kL; fe=L; fda uke \ 

(A) nqcqZf)%  (B) vYicqf)% 
(C) jk"Vªcqf)%  (D) lqcqf)% 

69- ekxsZ xPNUr% rs fde~ vi';u~ \ 

(A) nqX/kik=e~  (B) iq"iHkktue~ 
(C) vLFkhfu  (D) jDrfoUn`u~ 

70- ^fopk;Z* bfr inL; vFkZ% Hkfor 

(A) fopkja d`Rok (B) Hkkstua d`Rok 
(C) Lukua d`Rok  (D) âkla d`RokA 

71- lqcqf)% dq= vkjksgr~ \ 

(A) o`{ke~  (B) Hkoue~ 
(C) ;kue~  (D) i;ZM+de~A 

 lwpuk%& v/kksfyf[krku~ 'yksdku~ ifBRok iz'ukuka 

¼iz-la- 146&150½ fodYikREdksÙkjsH;% mfprree~ mÙkja 

fpRok fy[krA 

 egktuL; lallxZ% dL; uksUufrdkjd%A 

 iái=fLFkra okfj /kÙks eqDrkQyfJ;e~AA 1 AA  

 oklkafl th.kkZfu ;Fkk fogk; 

 uokfu x`âkfu ujks·ijkf.kA 

 rFkk 'kjhjkf.k fogk; th.kkZ& 

 U;U;kfu la;kfr uokfu nsgh AA 2 AA 

 e;wjk.kka ous u`R;a lqUnja fd;rks·fi lu~A 

 u n`"V xqf.kfHk;kZor~ rkonfUr fujFkZde~AA 3 AA 

 cgwukefi 'kkL=k.kka dsoya iBusu fde~A 

 u psnkpj.ka rs"kka fØ;rs 'kL=/kkfj.kk AA 4 AA 

 ew[kZL; iŒp fpâkfu xoksZ nqoZpua rFkkA 

 Øks/kŒp n`<okn~'p ijokD;s"ouknj% AA 5 AA 

 fo|k fooknk; /kua enk; 

 'kfä% ijs"kka ifjihMuk;A 

 [kyL; lk/kksfoZijhresrr~A 

 Kkuk;s nkuk; p j{k.kk; AA 6 AA 

72- dq=fLFkra okfj eqDrkQyfJ;a /kÙks \ 

(A) m"Vªi`"BfLFkre~ (B) ljksojfLFkre~ 
(C) iái=fLFkre~ (D) 'okui`"BfLFkre~ 

73- ^oL=kf.k inL; d`rs f}rh;s 'yksds fda ina 

iz;qäe~  

(A) olkafl   (B) th.kkZfu  
(C) x`âkfr   (D) 'kjhjkf.kA 

74- lk/kks% 'kfä% dFke~ mi;qäk Hkofr 

(A) j{k.kk;   (B) enk;  
(C) ihMuk;   (D) nkuk;A 

75- e;wjk.kka lqUnja u`R;a dnkidZu&fujFkZda Hkofr \ 

(A) ;kor~ /ksuqfHk% u n`"Ve~ 
(B) ;kor~ xqf.kfHk% u n`"Ve~ 
(C) ;kor~ if{kfHk% u n`"Ve~    
(D) ;kor~ fgldS% u n`"Ve~A 

76- ^v/;;usu* inL; d`rs iŒPes 'yksds fda ina 

iz;qäe~A 

(A) iBusu  (B) vuknjs.k 

(C) lq[kknjs.k  (D) nqoZpusuA 
77- r`rh;d{kk;k% f'kf{kdk i~jR;sd'kCnL; 

'kq)ksPpkj.ks /;kua nnkfrA ,oa lk fda 

fodflrqe~ bPNfr \ 

(A) vFkZcks/kue~ (B) lalfDr% 
(C) 'kq)rke~  (D) /kkjki~jokfgrke~ 

78- ,d% ckyd%-------------x~jLr% vfLrA l% 

jke% bfr ejk] o`{k% bfr o~j{kg iBfrA rfgZ&&  

(A) fMLi~jsfDl;k (B) fMLdsydqfy;;k 
(C) fMLysfDl;k (D) vQsT;k 

79- ,dk f'kf{kdk rukox~jLrckydL; Kkua drqZa 

'kDuksfr ;fn ckyd% fuEufyf[kra O;ogkje~ 

vkpjsr~& 

(A) vfrlfd~j;rk (B) vkd~jked&O;ogkj% 

(C) v/;;us ,dkx~jrk (D) vf/kd&okrkZyki% 

80- jke% Nkr~jku~ ikBs vkxrkuka 'kCnkuka };ks% 

fHkUuHkk"k;ks% vuqokna f'k{k;frA jkeL; 

eq[;ksís';e~ vfLrA 

(A) f'k{k.ka #fpiw.kZa dj.ke~    
(B) ckydkuka ekr`Hkk"kk;k% fo"k;s 

Kkui~jkIrdj.ke~ 
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(C) cgqHkkf"kdfodkla i~jksRlkgua dj.ke~  
(D) d{kk;ka ckydkuka lfd~j;rk;k% o`f)dj.ke~ 

81- oUnuk ,dk laLd`rNkr~jk vfLrA lk loZnk 

'kCnku~ foijhr&deZs.k fy[kfr ,oa rLekr~ 

dkj.kkr~ 'kCnku~ foijhr&d~jes.k iBfr fy[kfr 

pA lEHkor%oUnuk& 

(A) f'k{kka i~jfr mnklhuk vfLr   
(B) n`f"Vxr&nks"ks.k x~jLrk vfLr 

(C) fMlx~jkfQ;k&x~jLrk vfLr   
(D) fMLysfDl;k&x~jLrk vfLr 

82- v"Veh&d{kk;k% x.ks'k% ys[kus leL;k% 

vuqHkofrA lEHkor% l%----------ihfM+r% 

vfLr& 

(A) fMLx~jkfQ;k (B) fMLdsydqfy;k 
(C) Hkk"kk?kkr%  (D) fMLysfDl;k 

83- i~jkFkfedLrjs f'k{kds fda lokZf/kad egÙoiw.kZa eU;sr~ 

\ 

(A) ikBuL; mRlqdrk  
(B) /kS;Za n`<+rk p 

(C) f'k{k.k&i)fruka fo"k;k.kka p Kkus n{krk  
(D) vfrekudHkk"kk;ka ikBuL; n{krk 

84- ;fn Hkorka d{kk;ka n`f"Vckf/kr&ckydk% lfUr 

rfgZ& 

(A) rku~ fo'ks"k&lgkuqHkwR;k ikfB";fr   
(B) rku~ losZH;% ckydsH;% i`Fkd~ ikBua 

 nkL;fr 

(C) rsH;% iBuL; mi;qDr&lk/kukfu nkL;fr  
(D) fdefi u 

85- cgqHkkf"kd&d{kk;ka ckydkuka Hkk"kka Lfkkua nkrqe~ 

vko';dr~ vfLr~& 

(A)  f'k{kd% ckydkuka Hkk"kk;k% i~j;ksxa dq;kZr~  
(B) f'k{kd% ckydku~ Lodh;&Hkk"kk;ke~ 

 vkpj.kk; onsr~ 

(C) f'k{kd% ckydkuka ekr`Hkk"kk&i~j;ksxa 

 Lohdq;kZr~A 
(D) f'k{kd% ckydkuka ekr`Hkk"kk;ka xhr & 

 dfork% 'k~#.kq;kr~A 

86- i~jkFkfed&Lrjs ckylkfgR;L; i~j;ksx& 

(A) Hkk"kkf/kxek; lqxea lk/kua orZrs   
(B) O;kdjf.kd&fu;ekuka Kkuk; mfpra ukfLr 
(C) Hkk"kk;k% lw{erk;k% ,oa lkSan;Zcks/kL; 

{kerk;k% fodkl% djksfr    
(D) dsoya le;&;kiua djksfr 

87- okpu&vH;klle;s dks·fi Nkr~j% ikBkxrL; 

'kCnL; LFkkus fdefi vU;a 'kCna onfrA 

v/;kidsu fda drZO;e~ 

(A) ^iqu% iBrq ^bR;kns'k% 'kh?k~jeso nkrO;%  
(B) ^Nkr~j% lEiw.kZe~ va'ka iBsr~* bfr fopk;Z    

 rR{k.ka fdefi u oDrO;e~ 

(C) rR{k.keso 'kqf)% dkj.kh;k    
(D) ';keiV~Vs fyf[kRok ^Nkr~j%* 

88- fof'k"V&ckydkuka Kkuk; fof/k% vfLr& 

(A) lkewfgd&fu"ifÙk&fof/k% 

(B) ekufld&ijh{k.k&fof/k% 
(C) LokLF;&ijh{k.k&fof/k% 

(D) mj;qDr&losZ 
89- lekos'kh&f'k{kk;k% lUnHksZ Hkk"kk&f'k{k.kL; d`rs 

vfuok;ZefLr& 

(A) fofHkUu& xfrfof/kuke~ mi;ksx%   
(B) O;kdjf.kd&ladYiukuka vf/kdkf/kd% 

 vH;kl% 

(C) ,dkadh&f'k{k.ks losZ"kka mifLFkfr%   
(D) Hkk"kk&dkS'kykuke~ mi;qDr% vH;kl% 

90- cgqHkkf"kd&d{kk dsu i~jdkjs.k f'k{k.kL; d`rs 

lalk/kua ukfLr \ 

 (A) ,rsu ckydk% vf/kd&fo'ys"k.kkRedk% 

 HkofUr 
(B) cgqHkkf"kd&ckydk% vf/kd&jpukRedk% 

 HkofUr 

(C) cgqHkkf"kDr;k ckydk% lkekftd:is.k 

 lgu'khy& ;qDrk% HkofUr   
(D) cgqHkkf"kDr;k ckydk% vyxkoL; Hkkou;k 

 i~jsfjrk% HkofUr 
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MATHEMATICS 
91. Which of the following is a desirable 

practice in the context of teaching and 

learning of measurement of volume. 

(A) Begin with writing the formula of 

volume of a cube.    

(B) Encourage precise calculation right 

from the beginning. 

(C) Begin by introducing students to the 

volume of 2-D figures.   

(D) Encourage students to figure out ways 

to calculate the volume of different 

objects. 

92. Reasonig, using variables and looking for 

a pattern are. 

(A) Set of problem-solving strategies  

(B) Helpful in memorizing  

(C) Integral part of drill method   

(D) Not useful while learning mathe-

 matics. 

93. Which research is conducted by qualif-ied 

research scholars after a post graduate 

degree. 

(A) Fundamental Research   

(B) Action Research 

(C) Both A and B  (D) Basic research 

94. A teacher of mathematics applies ........ to 

find the difficulties and weaknesses of the 

students. 

(A) Teaching learning techniques.  

(B) Cohesive arguments 

(C) Essential constituents of group work  

(D) Diagnostic test 

95. If the format of the rating scale is such 

that the characteristics to be rated is 

represented as a straight line along which 

are placed some verbal guides, the tool is 

referred to as......................... 

(A) Graphic Scale  

(B) Standard scale 

(C) Numerical scale 

(D) Check list 

96. Which of the following is problem 

centered and democratic technique ? 

(A) Drill work (B) Home work 

(C) Brain storming (D) All of these 

 

xf.kr 

91- vk;ru ds ekiu ds f'k{k.k vkSj vf/kxe lanHkZ esa 

fuEufyf[kr esa ls dkSu lh izfØ;k okaNuh; gS\ 

(A) izkjaHk esa ,d ?ku ds vk;ru ds lw= dks 

fy[kukA    

(B) izkjaHk ls gh LVhd ifjdyu dks izksRlkfgr 

djukA 

(C) fo|kfFkZ;ksa dks izkjaHk esa 2&foekvksa okyh 

vkd`fr;ksa ds vk;ru dh tkudkjh nsukA  

(D) fo|kfFkZ;ksa dks fofHkUu vkd`fr;ksa ds vk;ru ds 

ifjdyu gsrq iz;klksa dh dYiuk ds fy, 

izksRlkfgr djukA 

92- rkfdZd cqf)] pj la[;k dk mi;ksx djuk vkSj ,d 

iSVuZ dk irk yxkuk gSA 

(A) leL;k gy djus dh j.kuhfr;ksa dk laxzg  

(B) ;kn djus esa lgk;d 

(C) vH;kl fof/k dk vfHkUu vax   

(D) xf.kr lh[kus ds nkSjku mi;ksxh ugha 

93- LukrdksÙkj fMxzh ds ckn ;ksX; 'kks/k&fo|kfFkZ;ksa }kjk 

dkSu lk 'kks/k fd;k tkrk gS\ 

(A) ekSfyd vuqla/kku (B) dk;kZRed vuqla/kku 

(C) A vkSj B nksuksa (D) ewy 'kks/k 

94- ,d xf.kr ds f'k{kd dks Nk=ksa dh detksfj;ksa vkSj 

dfBukb;ksa dks [kkstus ds fy, iz;ksx djuk pkfg,A  

(A) f'k{k.k vf/kxe rduhd    

(B) ,dtqV rdZ 

(C) lewg esa dke djus ds vko';d ?kVd  

(D) uSnkfud ijh{k.k 

95- ;fn fu/kkZj.k ekiuh ¼jsfVax Ldsy½ dk izk:i bl 

izdkj gS fd fu/kkZfjr dh tkus okyh fo'ks"krkvksa dks 

,d lh/kh js[kk ds :i esa n'kkZ;k tkrk gS ftlds 

vuqfn'k dqN ekSf[kd funsZ'k j[ks tkrs gSa] rks bl 

midj.k dks---------------ds :i esa lanfHkZr fd;k 

tkrk gSA  

(A) vkys[kuh; ekiuh (B) ekud ekiuh 

(C) la[;kRed ekiuh (D) tk¡p lwph 

96- fuEufyf[kr esa ls dkSu&lh leL;k dsfUnzr vkSj 

lkoZykSfdd rduhd gS\ 

(A) izf'k{k.k dk;Z  (B) x`g dk;Z 

(C) cqf)'khyrk  (D) ;s lHkh 
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97. Which of the following teaching learning 

resources is best suited to explain the 

concept of multiplication of two decimal 

numbers say 0.3 x 0.2 = 0.06 ? 

(A) Taylor's abacus  (B) Number chart 

(C) Graph paper (D) Dienes blocks 

98. Out of the following , what is most 

important characteristic of oral work in 

Mathematics for school students. 

(A) It develops mental process   

(B) It saves time 

(C) Not require paper pencil   

(D) Able to solve questions Orally 

99. In curriculum constructions the principle 

of child-centred says that................ 

(A) We should include those topics which 

are useful in our daily life  

(B) Curriculum is for the child  not the 

child for curriculum. 
(C) We should include those topics of 

mathematics which later to the needs, 

as pirations and ideas of the 

community.   

(D) We should include certain puzzles 

and riddles in curriculum. 

100. A teacher uses the text-book to fulfill his 

need for. 

(A) Suitable subject matter   

(B) Assigning home work 

(C) Reference material    

(D) All of the above 

101. Kumar belongs to a very poor and 

conservative family, what a teacher can 

do to help him ? 

(A) A special school and classes may be 

opened for him    

(B) Special training may be given to the 

teacher. 

(C) He should be treated as a normal pupil  

(D) He should be sympathized 

102. Which is wrong about teaching aids for a 

mathematics teacher ? 

(A) To make the mathematical concepts 

clear and simple   

(B) To make the lesson interesting and 

effective 

(C) To make the teaching meaningful  

(D) To decrease the power of observation 

of students 

97- nks n'keyo okyh la[;kvksa ds xq.ku tSls fd 0-3x 0-2 

= 0-06 dh ladYiuk dks le>kus ds fy, fuEufyf[kr 

esa ls dkSu lk f'k{k.k&vf/kxe lk/ku mfpr gS\ 

(A) Vsyj dk fxurkjk (B) la[;k ukVZ 

(C) xzkQ isij  (D) Mkbful CykWDl 

98- fuEufyf[kr esa ls fo|ky; ds fo|kfFkZ;ksa ds fy, xf.kr 

esa ekSf[kd dk;Z dh lokZf/kd egRoiw.kZ fo'ks"krk gSA 

(A) ;s ekufld izfØ;kvksa dk fodkl djrh gSA  

(B) ;s le; cpkrh gSA 

(C) isij&isfUly dh vko';drk ugha gS   

(D) ekSf[kd :i ls iz'uksa dks gy djus ;ksX; cukrh 

gSA 

99- ikB~;Øe fuekZ.k esa] cky dsfUnzr fl)kar dgrk gS fd--

------------ 

(A) gesa mu fo"k;ksa dks 'kkfey djuk pkfg, tks nSfud 

thou esa mi;ksxh gksrs gSa   

(B) ikB~;Øe cPpksa ds fy, gksrk gS u fd cPps 

ikB~;Øe ds fy, gksrs gSa 

(C) gesa xf.kr ds mu fo"k;ksa dks tks t:jrksa] 

vkdka{kkvksa vkSj leqnk; ds fopkjks ds fy, 

vko';d gS] dks 'kkfey djuk pkfg,A  

(D) gesa ikB~;Øe esa dqN igsfy;ksa dks 'kkfey djuk pkfg, 

100- ,d f'k{kd viuh fdl vko';drk dks iwjk djus ds 

fy, ikB~;iqLrd dk mi;ksx djrk gS& 

(A) mi;qDr fo"k; oLrq (B) x`gdk;Z nsus esa 

(C) izklafxd oLrq  (D) mijksDr lHkh 

101- dqekj ,d cgqr gh xjhc vkSj :f<+oknh ifjokj ds 

varxZr vkrk gS] f'k{kd mldh enn djus ds fy, D;k 

dj ldrs gSa\ 

(A) mlds fy, ,d fo'ks"k Ldwy vkSj d{kkvksa dks 

[kksyk tk ldrk gS    

(B) f'k{kd ds fy, fo'ks"k izf'k{k.k fn;k tk ldrk gS 

(C) mlds lkFk ,d lkekU; Nk= ds :i esa O;ogkj 

fd;k tkuk pkfg,A    

(D) mlds lkFk lgkuqHkwfr dh tkuh pkfg, 

102- xf.kr ds f'k{kd ds fy, f'k{kd lgk;d midj.k 
ds ckjs esa D;k xyr gS\ 

(A) xf.krh; vo/kkj.kkvksa dks Li"V vkSj ljy cukuk  

(B) ikB dks :fpdj vkSj izHkkoh cukuk 

(C) f'k{k.k dks lkFkZd cukuk    

(D) Nk=ksa dh voyksdu dh 'kfDr dks de djuk 
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103. Suitable method of Arithmetic teaching is. 

(A) Project method 

(B) Demonstration method 

(C) Analytic method 

(D) None of the above 

104. Out of the following which of the teachi-

ng method in mathematics is difficult to 

use in formal classroom situation ? 

(A) Inductive  (B) Deductive 

(C) Project  (D) Analytic 

105. In which of the following statements, 

number 'three' is used in ordinal sense ? 

(A) All groups have three team members  

(B) This box contains many sets of three 

pencils. 

(C) I live on the third floor of this 

building.    

(D) This house has three rooms. 

106. What is the value of expression 23gm 

50 mg × 7 = ? 

(A) 162 gm 350mg  

(B) 23gm 350 mg 

(C) 161gm 350mg  

(D) 161 gm 50 mg 

107. What time is 3h 40min before the 2:30 

pm  

(A) 11 am  (B) 10:50 am 

(C) 11:30 am  (D) 11:55 am 

108. Two numbers are in the ratio  3:5 and 

their LCM is 300. Find the number ? 

(A) 70,100  (B) 60,100 

(C) 50,80  (D) 40,100 

109. How many zeroes are there at the end of 

product 35x27x52 ? 

(A) 1   (B) 2        (C) 3 (D) 4 

110. If 2𝑛+4-2𝑛+2 = 3 , then n is equal to: 

(A) 0   (B) 2 

(C) -1   (D) -2 

111. (4 x 210)3÷(29 ÷ 43)10  x (27x3) = ? 
(A) 4176  (B) 2756 

(C) 5154  (D) 6028 

112. Martha spent 
4

9
 of her allowance on 

food and shopping. What fraction of 

her allowance had she left ? 

(A) 
4

3
      (B) 

5

9
      (C) 

7

3
 (D) 

1

3
 

103- vadxf.kr f'k{k.k dh mi;qDr fof/k gS& 

(A) izkstsDV fof/k  (B) izn'kZu fof/k 

(C) fo'ys"k.k fof/k (D) buesa ls dksbZ fof/k 

104- fuEukafdr esa ls dkSu lh f'k{k.k fof/k dks 

vkSipfkjd d{kk O;oLFkk esa iz;ksx djuk dfBu gS\ 

(A) vkxeukRed  (B) fuxeukRed 

(C) izk;kstuk  (D) fo'ys"k.kkRed 

105- fuEufyf[kr dFkuksa esa ls fdlesa la[;k rhu dk 
iz;ksx Øelwpd Hkko esa gqvk gSa\ 

(A) izR;sd lewg esa rhu Vhe lnL; gSaA   

(B) bl fMCcs esa rhu isaflyksa ds dbZ lewg gSaA 

(C) eSa bl bekjr dh rhljh eafty ij jgrk gw¡ 

(D) bl ?kj esa rhu dejs gSaA 

106- fuEu dk eku D;k gksxk 23 xzke 50 feyhxzke 
× 7 = ? 

(A) 160xzke 350 fe-xzk 

(B) 23xzke 350 fe-xzk 

(C) 161xzke 350 fe-xzk  

(D) 161xzke 50 fe-xzk 
107- 2%30 cts ls igys 3 ?kaVs 40 feuV D;k le; gS  

(A) 11 iwokZg~u  (B) 10%50 iwokZg~u 

(C) 11%30 iwokZg~u (D) 11%55 iwokZg~u 

108- nks la[;k,a 3%5 ds vuqikr esa gS vkSj mudk y-

l- 300 gSA rks ;s la[;k,a Kkr djsaA 

(A) 70]100  (B) 60]100 

(C) 50]80  (D) 40]100 

109- 35x27x52  ds xq.kuQy ds var esa fdrus 'kwU; 

gksaxs\ 

(A) 1 (B) 2    (C) 3 (D) 4 

110- ;fn 2𝑛+4-2𝑛+2 = 3 gS] rks n dk eku gSA 

(A) 0 (B) 2   (C) &1 (D) &2 
111- (4 x 210)3÷(29 ÷ 43)10  x (27x3) = ? 

(A) 4176  (B) 2756 

(C) 5154  (D) 6028 

112- ekFkkZ us Hkkstu vkSj [kjhnkjh ij vius HkRrs dk 

4

9
  [kpZ fd;kA mlds HkRrs dk fdruk va'k 

mlds ikl 'ks"k gS\ 

(A) 
4

3
        (B) 

5

9
        (C) 

7

3
 (D) 

1

3
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113. The average of runs of a cricket player of 

20 innings was 35. How many runs must 

he take in his next innings so as to 

increase his average of runs by 6 ? 

(A) 102 (B) 108     (C) 84(D) 161 

114. One side of a rectangular field is 40 meter 

and one of its diagonals is 41 metre. Find 

the area of the field. 

(A) 300 𝑚2  (B) 280 𝑚2 

(C) 360 𝑚2  (D) 400 𝑚2 

115. The price of an orange is 3 rupee. Then 

what is the price of 3dozen oranges? 

(A) 108 rupees (B) 110 rupees 

(C) 112 rupees (D) 114 rupees 

116. Length and breadth of a rectangle are 

increased by x% and 20% respectively. If 

the area is increased by 74%, then what is 

the value of x ? 

(A) 55     (B) 30       (C) 45     (D) 40 

117. Find the value of  
1.44x0.81

0.9x3.6
 

(A) 0.6   (B) 0.5    (C) 1 (D) 0.75 

118. Which of the following numbers is 

divisible by both 4 and 9 ? 

(A) 2368  (B) 2736 

(C) 3954  (D) 3814 

119. What should be added to 51234, to make 

it divisible by 9 ? 

(A) 6   (B) 4      (C) 3 (D) 5 
120. Find the square root of 1234567654321 

(A) 1121121  (B) 111111 

(C) 1112111  (D) 1111111 

i;kZoj.k v/;;u (EVS) 
121. Which of the following is a learning 

objective for class III according to 

EVS pedagogical curriculum ? 

(A) Identifying Good and Bad touch  

(B) Explain the process of producing 

and procuring of items of daily 

needs. 

(C) Learning about festivals and 

historical places    

(D) Understand functions of institut-

ions like Banks, Police station, 

Panch-ayats etc. 

113- ,d fØdsV f[kykM+h dh 20 ikfj;ksa ds juksa dk 

vkSlr 35 FkkA mls viuh vxyh ikjh esa fdrus 

ju cukus pkfg, rkfd mlds juksa dk vkSlr 6 

rd c<+ lds \ 

(A)  102   (B) 108  (C) 84   (D) 161 

114- ,d vk;rkdkj {ks= dh ,d Hkqtk 40 ehVj gS vkSj 

bldk ,d fod.kZ 41 ehVj gSA vk;rkdkj {ks= dk 

{ks=Qy Kkr dhft,A 

(A) 300 𝑚2  (B) 280 𝑚2 

(C) 360 𝑚2  (D) 400 𝑚2 

115- ,d larjs dh dher 3 :i;s gSA rks 3 ntZu larjs 
dh dher D;k gS\ 

(A) 108 #i;s  (B) 110 #i;s 

(C) 112 #i;s  (D) 114 #i;s 

116- ,d vk;r dh yEckbZ rFkk pkSM+kbZ dks Øe'k% x%  

rFkk 20%  ls c<+k;k x;k gSA ;fn {ks=Qy 74% ls 

c<+k;k x;k gS] rks x dk eku D;k gS\ 

(A) 55    (B) 30   (C) 45    (D) 40 

117-  
1.44x0.81

0.9x3.6
 dk eku Kkr dhft,A 

(A) 0-6  (B) 0-5    (C) 1 (D) 0-75 

118- fuEu esa ls dkSu&lh la[;k 4 rFkk 9 nksuksa ls HkkT; 
gS\ 

(A) 2368  (B) 2736   (C) 3954  (D) 3814 

119- 51234 esa D;k tksM+k tk, ftlls og 9 ls HkkT; 
cu tk, \ 

(A)  6 (B) 4   (C) 3 (D) 5 

120- 1234567654321 dk oxZewy Kkr dhft,A 
(A) 1121121  (B) 111111 

(C) 1112111  (D) 1111111 

i;kZoj.k v/;;u (EVS) 
121- fuEu esa ls dkSu lk bZ-oh-,l 'kS{kf.kd ikB~;Øe ds 

vuqlkj d{kk rhljh ds fy, ,d vf/kxe mís'; 

gS\ 

(A) vPNs vkSj cqjs Li'kZ dh igpku   

(B) nSfud vko';drkvksa dh oLrqvksa ds mRiknu  

 vkSj [kjhn dh izfØ;k dks Li"V djuk 

(C) mRloksa vkSj ,sfrgkfld LFkkuksa ds ckjs esa 

 lh[kuk    

(D) cSadksa] iqfyl LVs'ku] iapk;rksa vkfn tSls 

 laLFkkuksa ds dk;ksZ dks le>uk 
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122. According to EVS curriculum it is 

important for primary children. 

(A) To develop sensitivity towards plants 

and trees.    

(B) To complete their homework on time. 

(C) To become disciplined from a young 

age    

(D) To resolve issues related to justice 

and equality. 

123. Who forces environment education to 

the whole world ? 

(A) UNESCO (B) UNEP 

(C) UNO  (D) WHO 

124. Environmental science can be applied 

to which of the following domain ? 

(A) In the industry    

(B) In research and development 

(C) In human health and sanitation.  

(D) All of the above 

125. Which of the following is responsible 

for degradation of environment ? 

(A) Lack of awareness    

(B) Unplanned Urbanization 

(C) Breeding of wild animals   

(D) a and b 

126. From the following what is included in 

environment issues? 
(A) Global warming (B) Ozone depletion 

(C) Acid rain  (D) All of the above 

127. Environment education focus on ......... 

(A) Study of archaeology    

(B) Study of environment 

(C) to give proper education of enviro-

nment that they can feel 

environment should be conserved.  

(D) None of these 

128. EVS addresses environmental issues 

by using the contents of  

(A) Science, Social science and Envir-  

onmental Education.   

(B) Science and Geography  

(C) Science and Social Science    

(D) Social science and  Environment 

Education 

 

122- bZ-oh-,l ikB~;Øe ds vuqlkj] izkFkfed oxZ ds 

cPpksa ds fy, ;g egRoiw.kZ gS 

(A) ikS/kksa ,oa isM+ksa ds izfr laosnu'khyrk 

 fodflr djuk     

(B) le; ij viuk x`gdk;Z iwjk djuk 

(C) NksVh vk;q ls vuq'kkflr gks tkuk   

(D) U;k; vkSj lekurk ls lacaf/kr eqíksa dks gy 

djuk 

123- dkSu i;kZoj.k f'k{kk ij iwjh nqfu;k esa cy nsrk 
gS\ 

(A) ;wusLdks  (B) ;w-,u-bZ-ih- 

(C) ;w-,u-vks  (D) MCY;w-,p-vks 

124- fuEufyf[kr esa ls fdl Mksesu ij i;kZoj.kh; 

foKku ykxw fd;k tk ldrk gS\ 

(A) m|ksx esa   

(B) vuqla/kku vkSj fodkl esa 

(C) ekuo LokLF; vkSj LoPNrk esa   

(D) mi;qZDr lHkh 

125- fuEufyf[kr esa ls dkSu i;kZoj.k ds {kj.k ds 

fy, ftEesnkj gS\ 

(A) tkx:drk dk vHkko    

(B) vfu;ksftr 'kgjhdj.k 

(C) taxyh tkuojksa dk iztuu  

(D) a vkSj b 

126- fuEu esa ls i;kZoj.k ds eqíksa esa D;k 'kkfey gS\ 
(A) xykscy okWfeZax (B) vkstksu fjfDrdj.k 

(C) vEy o"kkZ  (D) ;s lHkh 

127- i;kZoj.k f'k{kk ----------- ij dsfUnzr gSA 
(A) iqjkRo dk v/;;u (B) i;kZoj.k dk v/;;u 

(C) i;kZoj.k dh mfpr f'k{kk nsuk ftlls fd os 

eglwl dj ldsa fd i;kZoj.k dk laj{k.k fd;k 

tkuk pkfg,A    

(D) buesa ls dksbZ ugha 

128- bZ-oh-,l----------fo"k; lkexzh dk mi;ksx djds 
i;kZoj.k ds eqíksa dks lacksf/kr djrk gSA 

(A) foKku] lkekftd foKku vkSj i;kZoj.k f'k{kk  

(B) foKku vkSj Hkwxksy  

(C) foKku vkSj lkekftd foKku    

(D) lkekftd foKku vkSj i;kZoj.k f'k{kk 
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129. Identify the incorrect statement from the 

following. 

(A) Environment degradation can impact 

the health of individual.  

(B) Environmental improvement is an 

immediate result of investment 

(C) Resource management is helpful for 

upcoming generation.  

(D) Awareness can help in protecting 

environment. 

130. Principle of 'Specific to General' is used 

in 

(A) Inductive Method    

(B) Synthetic Method 

(C) Heuristic Method    

(D) Analytic Method 

131. The present syllabus of Environmental 

studies is woven around some common 

themes. Which one of the following  is 

not ncluded in the list of themes ? 

(A) Water  (B) Air 

(C) Food  (D) Shelter 

132. Which is the largest source of irrigation in 

India other than rainwater ? 

(A) Wells and Tubells(B) Canals 

(C) Tanks          (D) None of the above 

133. What is the percentage of Nitrogen in the 

atmospheric air 

(A) 79%   (B) 78%    (C) 58%     (D) 68% 

134. In which of the following processes 

water vapour is converted into water 

by cooling down ? 

(A) Evaporation (B) Condensation 

(C) Humidity (D) Precipitation 

135. Identify the water borne diseases from 

the following . 

(A) Hepatitis      (B) Stomach infection 

(C) Typhoid       (D) All of these 

136. Energy produced from heat from the 

interior of earth is called................ 

(A) Nuclear Energy (B) Biogas  

(C)Geothermal energy(D)Tidal Energy 

137. Which of the planet have concentric 

ring made up of ice ? 

(A) Uranus  (B) Saturn 

(C) Jupiter  (D) Pluto  

129- fuEufyf[kr esa ls xyr dFku dks igpkusaA 
(A) i;kZoj.kh; {kj.k O;fDr ds LokLF; dks 

izHkkfor dj ldrk gS    

(B) i;kZoj.kh; lq/kkj fuos'k dk ,d rkRdkfyd 

 ifj.kke gS 

(C) vkxkeh ih<+h ds fy, lalk/ku izca/ku 

lgk;d gS   

(D) tkx#drk i;kZoj.k dh j{kk djus esa enn 

dj ldrh gS 

130- ^fof'k"V ls lkekU;* dk fl)kUr fuEu esa ls 

fdlesa mi;ksx gksrk gS\  

(A) vkxeu fof/k (B) la'ys"k.k fof/k 

(C) Lor% 'kks/k fof/k (D) fo'ys"k.k fof/k 

131- i;kZoj.k v/;;u dk orZeku ikB~;Øe dqN  

lkeku fo"k;ksa ds vk/kkj ij cquk x;k gSA 

fuEufyf[kr esa ls dkSulk blesa lfEefyr ugha gS 

(A) ikuh   (B) ok;q 

(C) Hkkstu  (D) vkokl 

132- o"kkZ ty ds vykok Hkkjr esa flapkbZ dk lcls 

cM+k L=ksr dkSu lk gS\ 

(A) dq,a vkSj uydwi (B) ugjsa 

(C) VSad    (D) mijksDr esa ls dksbZ ugha 

133- ok;qeaMyh; ok;q esa fdrus izfr'kr ukbVªkstu gS\ 
(A) 79%  (B) 78%  (C) 58%   (D) 68% 

134- fuEu esa ls fdl izfØ;k esa] ty ok"i BaMk 

gksdj ty esa ifjofrZr gksrk gS\ 

(A) ok"ihdj.k   (B) la|uu 

(C) vknzZrk  (D) o"kZ.k 

135- fuEufyf[kr esa ls ty tfur chekjh dh igpku 
dhft,% 

(A) gsisVkbfVl  (B) isV dk laØe.k 

(C) VkbQkW;M  (D) mijksDr lHkh 

136- i`Foh ds vkarfjd Hkkx ls Å"ek ls mRiUu ÅtkZ 

dks dgk tkrk gSA 

(A) ijek.kq ÅtkZ (B) ck;ksxSl 

(C) Hkwrkih; ÅtkZ (D) Tokjh; ÅtkZ 

137- fdl xzg ij oQZ ls cuk lafdafnzd ?ksjk gksrk gS\ 
(A) v#.k  (B) 'kfu 

(C) c`gLifr  (D) IywVks 
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138. Black cotton soil is formed from.......... 

(A) Igneous rock  (B) Sedimentary rock 

(C) Basalt rock   (D) Metamorphic rock 

139. In which part of India peaty and marshy soil 

found ? 

(A) Kerala, TamilNahu   (B) Punjab, Haryana 

(C) Andhra Pradesh, Madhya Pradesh  

(D) Goa, Odisha 

140. Panambur port is located in - 

(A) Gujarat  (B) Maharashtra 

(C) Karnataka (D) Kerala 
141. A technique of controlling noise pollution by 

plantig green plants or trees is known as - 

(A) Afforestation (B) Green muffler 

(C) Decibel meter  (D) None of the above 
142. The basic format of Indian family is - 

(A) Nuclear family  (B) Joint family 

(C) Maternal family   (D) None of the above 

143. Which of the following vitamin is 

essential for the clotting of blood ? 

(A) Vitamin A (B) Vitamin C 

(C) Vitamin E (D) Vitamin K 

144. Which of the following is not a root ? 

(A) Radish  (B) Carrot 

(C) Turnip  (D) Potato 

145. Which among the following bird makes 

their nest among the thaorn of cactus ? 

(A) Indian Rohin (B) Barbet 

(C) Dove  (D) Weaver bird 

146. What  is the area of Madhya pradesh in 

percentage with respect to the area of 

India ? 
(A) 8.49%(B) 10.45%(C) 16.54%(D) 9.38% 

147. Who is the present governor of Madhya 

pradesh? 
(A) Anandiben patel   (B) Dayaram sahni 

(C) Mangubhai patel   (D) Aditya singh 

148. Which of the followig is not a source of 

renewable energy ? 

(A) Fossil fuel       (B) Hydro electricity 

(C) Wind Energy (D) Solar Energy 

149. What is 'Pisciculture' ? 

(A) Bee Culture (B) Fish culture 

(C) Poultry culture(D) None of the above 

150. Which of the following is a contagious 

disease. 

(A) Diabetes  (B) Heart Attack 

(C) Hyper tension (D) Diphtheria 

138- dkyh dikl dh feêh ------------ ls curh gSA 
(A) vkXus; pêku  (B) ryNVh pêku 

(C) cslkYV pêku  (D) :ikarfjr pêku 

139- Hkkjr ds fdu {ks=ksa esa nynyh vkSj dhpM+nkj feêh ikbZ 

tkrh gS\ 

(A) dsjy] rfeyukMq (B) iatkc] gfj;k.kk 

(C) vka/kz izns'k] e/; izns'k  (D) xksvk] vksfM'kk 

140- ikuEcqj canjxkg dkgk¡ fLFkr gS& 
(A) xqtjkr  (B) egkjk"Vª 

(C) dukZVd  (D) dsjy 

141- gjs ikS/kksa ;k isM+ks dks yxkdj /ofu iznw"k.k dks fu;af=r 
djus dh rduhd dks ------ ds :i esa tkuk tkrk gS& 

(A) oujksi.k     (B) xzhu eQyj 

(C) Msflcy ehVj     (D) mijksDr esa ls dksbZ ugh 

142- Hkkjrh; ifjokj dk ewy Lo:i gS& 
(A) ,dy ifjokj (B) la;qDr ifjokj 

(C) ekr` ifjokj (D) mijksDr esa ls dksbZ ugha 

143- fuEu esa ls dkSu lk foVkfeu jDr ds FkDds ds fy, 
vko';d gS\  

(A) foVkfeu A  (B) foVkfeu C 

(C) foVkfeu E  (D) foVkfeu K 

144- fuEufyf[kr esa ls dkSu tM+ ugha gS\ 
(A) ewyh  (B) xktj    (C) 'kyte  (D) vkyw 

145- fuEu esa ls dkSu lk i{kh dSDVl ds dkaVksa ls viuk 

?kkaslyk cukrk gS 

(A) bafM;u jksfcu  (B) ckcsZV 

(C) Qk[krk  (D) chcj i{kh 

146- e/;izns'k dk dqy {ks=Qy Hkkjr ds {ks=Qy dk 

fdruk izfr'kr gS\ 

(A) 8.49%(B) 10.45%(C) 16.54%(D) 9.38% 

147- e/;izns'k ds orZeku jkT;iky dkSu gSa\ 
(A) vkuUnhcsu iVsy (B) n;kjke lkguh 

(C) eaxwHkkbZ iVsy  (D) vkfnR; flag 

148- fuEufyf[kr esa ls dkSu lk uohdj.kh; ÅtkZ dk L=ksr 

ugha gS\ 

(A) thok'e bZa/ku  (B) ty fo|qr 

(C) iou ÅtkZ  (D) lkSj ÅtkZ 

149- ^filhdYpj* D;k gS\ 
(A) e/kqeDlh ikyu (B) eNyh ikyu 

(C) eqxhZ ikyu      (D) mi;qZDr esa ls dksbZ ugha 

150- fuEufyf[kr esa ls dkSu lk jksx laØked gS\ 
(A) e/kqesg   (B) ân;?kkr 

(C) mDr&jDrpki  (D) fMiFkhfj;k 
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ANSWERS 

1 A 21 B 41 D 61 C 81 A 101 C 121 A 141 B 

2 C 22 C 42 D 62 A 82 D 102 D 122 A 142 B 

3 D 23 C 43 D 63 C 83 B 103 C 123 B 143 D 

4 B 24 C 44 C 64 B 84 A 104 C 124 D 144 D 

5 A 25 D 45 A 65 A 85 A 105 C 125 D 145 C 

6 B 26 D 46 B 66 B 86 A 106 C 126 D 146 D 

7 D 27 A 47 A 67 D 87 A 107 B 127 C 147 C 

8 B 28 D 48 A 68 D 88 A 108 B 128 A 148 A 

9 C 29 A 49 B 69 A 89 C 109 A 129 B 149 B 

10 A 30 A 50 B 70 B 90 D 110 D 130 A 150 D 

11 B 31 D 51 B 71 C 91 D 111 C 131 B   

12 A 32 A 52 A 72 C 92 A 112 B 132 A   

13 A 33 D 53 B 73 D 93 A 113 D 133 B   

14 A 34 A 54 B 74 A 94 D 114 C 134 B   

15 B 35 C 55 A 75 C 95 A 115 A 135 D   

16 D 36 C 56 B 76 B 96 C 116 C 136 C   

17 A 37 D 57 B 77 D 97 C 117 A 137 B   

18 A 38 A 58 B 78 B 98 A 118 B 138 C   

19 D 39 C 59 D 79 B 99 B 119 C 139 A   

20 A 40 C 60 A 80 A 100 D 120 D 140 C   

Hkkx&2 ¼laLd`r½ 

61 A 66 B 71 A 76 A 81 D 86 A 

62 B 67 B 72 C 77 C 82 A 87 B 

63 A 68 D 73 A 78 C 83 B 88 D 

64 A 69 C 74 A 79 B 84 B 89 A 

65 A 70 A 75 B 80 C 85 C 90 D 
 


